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Fact 1: A has four children.
Fact 2: Two of the children have blue eyes and two of the children have

‘brown eyes.

Fact 3: Half of the children are g|rls ,
If the first three statements are facts which of the following” statements
must also be a fact?

I. At least one girl has blue eyes.
II. Two of the children are boys.
II1. The boys have brown eyes. -

(a) IT only

(b) I and III only
(c) II and III only
(d) None of the statements is a known fact.
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'Next week, the show involves N: and 0. WhICh of the followmg is true

about the other actors who may

‘| appear?

(ayM, J, L, and K all may appear '

o (b) J, L, and K must appear.

(c) Only K may appear.

j (d) Only L may appear.
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Directions for Questlons 2 and 3

A weekly television show routinely stars six actors, J, K; L, M, N, and O. |

Since the show has been on the "

| television for a long time, some of the actors are good fr|ends and some

are. not. In an effort to keep peace,

the director sees to it that friends work together and enemies do- not
Also, as the actors have become more

popular, some of them. need time off to do other prOJects To keep the
schedule working, the director has a@ =~ .

few things she must be aware of:. -

I. J will only work on episodes on which M is workmg

II. N will not work with K under any circumstances. .

I M can only work every other week, in order to be free to film a

| movie.

IV. At Ieast three of the actors must appear in every weekly eplsode

o 2. Ina show L,.J an K wnll appear Wthh of the foIIowmg is true about

the other actors who may appear?
(a) M, N, and O must all appear.

(b) M may appear and N must appear.
-(c) M must appear and O may appear. .

(d) O may appear and N.may appear.
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Directions for questions 4 to 7

.| Four persons A,B,C and D are having moblle sets of four different

companies - Motorola Nokia, Samsung and LG (Not necessarily - in that

" | order), each having four dlfferent connections of four different service |
providers — BSNL, A|rte| Idea and Vodafone (Not necessarlly in the same |

order)

I BorDis havmg a moblle set of LG but not the connectlons from elther
Airtel or Idea.

I1. C is having mobile set of Samsung but not the connectlon of Idea.

| III. B is havmg connection by Vodafone but not the moblle set of LG or

Motorola. .
Now Answer the foIIowmg questlons based on the above |nformatlon

4. B has mob||e set of _

) 1 () LG (b) Motorola (c) Samisung (d) Nokia |
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Airtel.has been subscribed by
(a) A (b)B (C) G(d) b
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Connection of Idea has been subscrlbed by '
(@A (b) B (C) C(d)b |

, arut?lkzu 4 s rﬂzmtaﬂ si-ll qul £9 ) 7 »-A.
(1) A (o) oll ()eﬂ(s)ﬂ |

‘| D has connection of
(a) Alrtel (b) Vodafone (c) Idea (d) BSNL

: | ‘51’ LR T sur{lj, ALY 7
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TABCD is arectangle with AE=EF=FB where Eand F faII on segment AB.
What is the ratio . of the area: of the trlangle CEF. and that of the

. | rectangle?
(@) 1/6 (b) 1/9 (c) 1/8 (d) None of these
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| Directions for questlons 9 Answer the followmg questlon based on the .

information- given below:

'_E is three times older than'Y. Z is half the age of W. Y is older than Z. ,
9. Which of the followmg lnformatlon will be suchuent to estlmate E's

age?

‘(a) Z is'10 years oId

(b) Both Y and W are oIder than Z by the same number of years
(c) Both (a) and (b) ‘above. .

. (d) None of the above B

| uﬂrt ¢ 2l gztruz»&
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A man sold two books at Rs. 24 each On one he got a proﬁt of 20% and

‘|-on‘the other, he Iost 20% On the

whole, he

|- (@) lost Rupee 1

(b) gained Rupee 1 -

“| (c) lost Rupees 2

B 3 ‘(d) galned Rupees 2
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Assertion (A): A human being can float on dead sea wnthout effort

Reason (R):. I'he specific gravity of dead sea is |ess than that of human
body . , . )
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: D|rect|ons for questlon 11 and 12 Choose the correct aIternatlve from

the-following options as given below

for the Assertion (A) and Reason (R) given in each of the questlons.‘
(a) Both A and R are correct sentences and R is the reason for A
(b)Both A and R are correct sentences but R is not the reason for A.

| (c) A is correct but R is false

(d) A is false but R is correct."

11. Assertion (A): Most of the Himalayan rivers are perennial.
Reason (R): They are fed by melting sn-ow-. -

(¢ ) [Emm Raucunial {sadl ‘ﬂat ool rtél%ﬂ c»uwz{l 8.
5122 1 Aui 6128 Yol wiel) zqau SREY

13

A B, C and D are standing in an alphabetical line. A has a monkey on
his shoulder which can jump from person in the line to the next person

or back (but he can’t jump 2 people in a row in a single ]ump) If the
‘monkey made 3 jumps, where can he not be? ' -

(a) Bor D

1(b) D orC

(c)AorB

1(d) CorA

B - ol - Al AN G 2L SHGAR ASHHE QoL B, B L Well UR s qeR
& % ALSHL Glelal sl WA R 2L 43 2 wiesl uet sel a3 . (uig d aus-
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There are different shapes. The triangle is larger than the rectangle The |~

rectangle is larger than the circle. The circle is smaller than.pentagon.

The octagon is Iarger than the trlangle Wh|ch of these cannot be the|

largest shape?

(@) Rectangle (b) Octagon (c) Cerle (d) Pentagon ‘

YR zu el 21513 B. _
() R Qs Biéle Agrsias] Hlaw (o) ugwet qgvlaﬂ W)l ‘L 3

(s) ada el g, Q) wesuet Btésl'é’t?ﬂ QA6
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15

M, 3, T and R are creating a musical party. They need a singer, 2 sitar |

player, a tabala player and a vina player. If T can play sitar and sing; ‘M
can sing and play tabla; R can play tabla and play vina; and J can. play
the vina, which of these arrangements make sense7

1 (a) M - Tabla, T - sitar, R - sing, J - vina
| (b) M - tabla, T - sing, R - sitar, J - vina

(c) M - sing, T - sitar, R - tabla, J - vina
(d) M - sing, T - sitar, R - vina, J - tabla

-y~ -4l A 2R gL As: =3,[353e Wl wuedloset 32cum 2y B, &H WL HI
|2 uus, As RAdAles, s dotall 219 As RRucss ¥32 9. A ‘4’ RidiRaie-
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Om is taller than Mahesh. Mahesh is shorter than- Jayesh Jayesh is

shorter than D|nesh What does this mean?.

(&) Om is taller than-Jayes_h.‘

1 (b) Om is shorter than Jayesh.
- (c) Mahesh is shorter than Dinesh.
(d) Dinesh is taIIer’than{ om.

=\ N

M HIY Sl Gm £9. He %A Sl rﬂaﬂw COR [é-lsu 5l rﬂm e9 I
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| (A)G, L, M, N, W

-D|rect|ons for questions 17 to 20. A university library budget commlttee
must reduce exactly five of eight areas of expenditure—G, L, M, N, P R, |

S, and W — in accordance with the followmg conditions:

I. 'If both G and S are reduced, W is also reduced.

II. If N is reduced, neither R nor S is reduced.

III.IfPis reduced L is not reduced.

IV. Of the three areas L, M, and R, exactly two are reduced

17. Which one of the followmg could be-a complete and accurate |lSt of -

the areas of expenditure reduced by the commlttee7 h

(B)G, L, M, P, W

- (C)G,M, NI RI W ‘.

B : : o - Page 6"of36_
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(D)G, M,P,R,S
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heads)uisl 1Al @A SR uin  weAH wd  sazaddl B,

@, 21e, 204, 2, UL 2R, PR AR Setey F 213 {12l Rl BHL Al 8. |

(1). A ‘@’ 214 B 6l qasami-zud dl ‘soey unL udl g 8.
() = it HelsAl ) dl ‘BUR’ A B H2dl rtzﬂ

| ama A seizami z»ucw dl ‘A’ Hadl 2,
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U : 49 | | |
R e I»PI a2l W rﬁwuma[l % s Ayeud A A viA AL (ésas)
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1 (24) e, Aet, B, B, oty
| (o) @, B, A, sy

(5) e, 3, DAL, 212, 4y
(3) o, 3, ¥, 22, B

| 18

If both M and R are’ reduced WhICh one of the foIIowmg is a pair of areas
“neither of which could be reduced? .

(A)G L (B) G, N(C) L, N(D)L P

‘o w{’ 2 B’ oﬁ HILRALHL 2141 etq dL r[lz{vu {?Lscmua[l ENIRRE {Ers@{ 6.9
galdl A s ?

(1) @, A (4 ) o, et (s) 4, btrt(s)ua il

19

If W is reduced, which one of the following could be a complete and |

accurate list of the four other areas of expendlture to be reduced7
(A)G M P,S (B) L, M, N R(C)L M, P S(D)M P R, S

9 ey’ waLsui el §iy dl vﬂwmaﬂ S4LAR a*aum qat& el ¢ A-ll 2{1@[
L Aiss [Aseu wle 5. -

(1) o, A, Y, B (ot) A, VM, AL, AR |
L (s) a, v, |, &a () A, W, iR, AN

20.

If P is. reduced, which one. of the following is a pair of areas of
expend|ture both .of WhICh must be reduced? -

A'.'(A)G M (B)M,R (C)N,R(D)R,S

oA Yl seraru 2L S1Y L AL [Etsewua[l YL 6L ALY YR13RU eat 7

(1) @, 300 (@) - 304,22 (5) 2t 2R () AR, 3
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21

Passage for questlon 21 to 25: Read the following passage carefully and
answer the question below it.

It is Said with truth that the function of a university is to prepare the |.

young to take their place in the human society. It must provide its
members with knowledge and skill necessary to make them efficient

citizens. But is the whole duty of man exhausted by acquisition -of

knowledge and professional training? Is a university only an institution

for higher learning, a factory which churns out clerks and technicians

able to run the machinery of the state? Mere knowledge

which gratifies curiosity is different from culture which refines
personality. Culture is not remembering a mass of seriouis details about
the dates of birth of the great heroes of the world or the interesting
names of the fastest ships which cross the Atlantic or entertaining odds
and ends gathered from the latest who's who. A well known institute of

| this country has for its motto sa vidya ya vimuktaye; that is, knowledge |
‘which is designed for salvation, for the development of the soul, is the

best. Such an idea is'not merely and Indian idiosyncracy. Plato said long

" | ago that the culture of soul is 'the first and fairest thing that the best of |
men can ever have.' According to Goethe, the object of education is to-

form tastes and not simply to communicate knowledge. A man's culture
is not to be judged by the amount of tabulated information which he has

at his command, but by the quality of mind which he brings to bear on |
the facts. of life. Education is not cramming the mind with a host of |
technidal details, putting sight, as it were, into blind eyes. The eye of the

soul is never blind, only its gaze may be turned. to the false and the

fleeting. Too often,’ the vrsron may be dragged downwards by the 'leaden |

weights' of pride and"
prejudice, of passion and desnre The functron of the teacher is not to

‘|'add to the 'leaden weights' but remove them and liberate the soul from-

| the encumbrance so that it may follow its native lmpulse to soar

upwards. The student at a university does not mere|y learn somethlng, o

but becomes somethmg by being
exposed, in the most elastic period of thlS life, to[trans.forming
influences, such as the constant clash of mind with- mind, the

| interchange of ideas, the testmg of opinions, and the growth -_of

knowledge of human nature.
21. The function of a university is - :
(a) to enable the young to gather facts about the world

| (b) to learn to do his job

(¢) to enable them to earn their I|veI|hood
(d) to prepare the young to take thelr place in: soc1ety

s 1 24 ol 2 Al et w2l $52) vl sizel] qiaué»t& y1Dl 1;39[2{(1[ Nl GuiR 2L
R Al o sdaul 2wel B 3, RuRenadd (@Rafa) s gada wuda wuend

et 2oy e Aodal W2 duR sy . vl Ad d-i Renl>lA seigao wals |-
2l HI2 %33 el et 24 SA Y1 wi3al ASB. Ug el v AR dledln Aoadi |
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22

| () ao-elR argil -

What is meant by 'Ieaden welghts' ?
(a) Weights made of lead .

(b). Encumbrances that go- W|th life.
(c) Social and family responsibility

| (d) Hindering factors, of prlde and preJudlce passuon and desire, in the

liberation of soul.
eUR songy=l el gi, &7

(o) et A Padel ool

1(8) ulys 213 S gaeedi.

(s) LIl gfs\cuu AARYS u[iotuu %Cu} ALSR , ydue, 2ude 3 5%912»{[
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23

Mere knowledge and culture may be: dISthUIShed from each other ln _'

that -~ -

(a) the former wudens the mental honzon the latter enlarges the. heart
(b) the former gratifies curiosity, the latter refines personality =~
(c) the former enables one to become an efficient citizen

(d) the former is concerned with facts, the latter with fiction.

S5l i 21 AagRA Asitsell el s34 WS :
(1) 3 -5 RRA Qs B - w1 g e R o1l B,
(o) i Bratiau 2idlA © - o ol ifFicad Froud 8.
(5) nam aFad sifsan ks o .
(5) uan sélsdl A2, Aol B, o ollog seusll WA iR B

24

What is the true function of educatlon accordlng to the ancuent Indlan

| philosophers ? -

(a) Education is the. development of mind
(b) Education is the cultivation of culture
(c) Education bring about salvation and development of the soul

T (d) Educatlon eqips man's mind with facts about the world around him

il 16t~ elellRsl ([%elwfszl)ru Hd Y R [‘L&uetq, zug s ge?
) (gt 243 ettt Qs Bl & 8.
) REL B AR 8 52l D

(2
C |

1 (s) ﬁat-et &L Uelr 53 8 A wucull GaR 2 3.
©

) Bl HlftC[lftL Wl sl arg -l Al R [az[l qL}e ) @

25

. What is the obJect of eduation accordlng to Goethe ?
(a) It teaches social manners :

(b) It teaches courtesy
(c) It forms tastes ' -
(d) It communicates knowledge
DAL 4t Yool RLatai-il dgus? o
(20) B aulss Rre dud 8. () AR dudd.
.('3) ) Lﬁog cg[ﬂ_b& Rswd ®.  (3) QR srgsd WRA2A B,

| 26

"certalrm/ has been the loss of immunity from wolence fo

Dlrect1on for the questlons 26 to 29 Read the foIIowmg passage__ '
carefully and answerthe questlons thatfollow ' . _ _

The impact of technical advancement in armaments on man, needs'_to be 1
analyzed with a rational mind, and heart free from preJudlces of any.kind|:
towards modernization. The most noticeable impact of this d
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generatlons ever since the invention of gun paowder. In modern times,
‘the presence of technically advanced, not only at the fronts but also
among the civilian population, has vastly underminded the value of
human life, and endangered the very entity of those virtues of self
restraint and discretion. on which a peaceful and amiable society rests. |.
However an unbiased view of the present scenario would refrain one |
from attributiong the rising trends of violence to the availablility of
techmcally superior weapons, for one must not overlook the fact that
“necessity is the mother of invention”. Every stage in the development of
armaments has been marked by its distinct impact on society. When
man fought with his bare hands, the society was compact. The discovery
of metal and the use of spears, knives and arrows indicate the stage of
the formation of small kingdoms. Fire continued to be an effective
weapon of destruction when man introduced the cavalry into the army |
| and improved the strategies of making war, some small kingdomes gave
‘way to form empires, but with no revolutnonary advances in armaments
forthcoming, the polltlcal structure of society remained more or less
| stagnant for the many coming centuries. The next significant
development was the use of gunpowder, which could be used to perform
acts which were then of several guns and canons. This sudden advanceés
in weaponary not-only facilitated the control of a large mass of people by

| relatively few armed men that helped to form srong empires but-the |

availability of the new technology to a select few nations enabled the

formation of colonies in the continents which did not have access to the o

modernized technologies of warfare. Modern technological advances in
armaments aided the formation of nation states in Europe. The extensive
use of fire- powder lent a lethal edge to the naval power which proved to
be the greatest asset to any nation in the’ 91th century. Small states of |

Europe with strong navies, modern. arms and dlsc1plmed men gained |.

| control of lands in forelgn contments far greater in areas than the parent
-countrles : - :
26. Necessity is the mother of invention means -

(a) Nothing happens W|thout creating congenial envrronment

(b) Where there is mother, there is invention.

(c) When necessity arises, invention is done.

(d) Most of the inverntions are prelplanned. -

| uad suis Re ol 3ol YAl

A 8530 viot st dizll 213 3 avel WAL G v, .

| “2silelon gl Ao Frfan addl waURHl Hrasd wR adl g Rsdva
| Glfs wRoeEl 2 2ugFLsdl 219 AU s Yeoreell s eed Gl 53 w3

. Otwu quRLdL 28125 Wl aiaell 23 s34 wAS OF IR buu@L [ézurﬂ m{zaﬂ

WA wll usu rwﬂ o ¢8lsc -l Alell wwe %,buc[l AR 0. |

RIS ES i, 2sBusell EERICIREILI] S5cl ARE % ] uzg, zwurq *tLOLQSL' o

] URAL MU Mty e ARG ST vy § A M w1 [Qqs«u wEL W |

RUAEAL Qid 21 gﬁumq[ AL 2){[\ Reledel BHAE HEY W, UM 9dl w%[l f\ [a-u
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ctleiad, dlall, A A Guallal Al il Ui ana safd @, e
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sl 2@ s R deais <l Wizl geuR Wal LA WA,

g UIReUE ALl ouotd U ol s L i, w5 Asivil Yl Ao, A
oy avledl R 2. curee dldll Herad [@Qsia slgsii Gualoml ddidl Wles.
wlagRell edl. el 2 s oigdl A A gL R WA 2usHRL G WA 6wy A
Ul HAAS QAL S0 A3 AL HRAL gL 245 St ARG UR igA

| vl wsa oty wel WA WA ARL WA 204l GRS g6l Qaell - vige |
AL el W 2id) QSR U A32AH 4 el AU AL ol AsH o . YA
|2 AR SR YU w{lthvu 29 AL 2l wsy ol il

QoA disid Astsaa sial &L sl at[fo_L YL, ¥ sl 1l wglui DSual AR

*u_é' Al seradl ol oS, Hogsld Alsten, RS WAl A Rirdolg AR wd |
| gRAUAL L 1A 2 v et gL st Hl2L epud uR AU S

usie . |
‘or3Ruld 2 w[anstzv{l %tr[l €7 il 28 a9

1 () “ggn diciae Qe sul Rl sg, ot vta[l

() % %’ftvﬂ & cl ARSI B
(s) o1 o3RIl Glofl i B mm[z UL B,

27

(s) 32t euott >uRSI Yy 2ellrd U .
The style of the passage |s :
(a) retrospective -

(b) informative .
(c) analytical -

(d) provocative
2 55A AL 3N B 7

(a41) oqsirtt agell el
| o) gasdelordl |
(5) ReAAwauss .

() RRGAS
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() 24 A w8

The invention of modern weapons have resulted into
(a) successive wars for the last two centuries

(b) Loss of immunity from war in the society .

(c) Loss of life and property every now and then

(d) Arms race among the nations

g[S -l 2y (z»u[anstz)d, u[ieun 2 219 & 3;

| (1) Sedl &L uloli As uedl s 4

() Q{‘{l"b"*ﬂ Ys :&l‘{*ﬂ ulasizs wlsa-l A

(5) aFeur o-uesl A

29

Small kingdoms turned into big empires, after:

(a) the introduction of nuclear arms into the army
(b) the end of the use of knives, arrows and swords
(c) the end of 19th century :

(d) Introductlon of cavalry into the army

Al Al A2l zrfzrqtg, wa’rt POTE) a{g [
(21) agseeti iguRdl ez wis o
(o) 5o, ol 2 el @uqlatvu vid OllE
(s) aclludlu i oUE.
(8) @i vuen evia sul ole

30

‘Directions for the questions 30 to 33

Read each of the following passage and answer the |tems that follow

| Your answers to these items should be based on the passages only.

Passage

| The difference  between a liquid .and a- gasA is obvious under the

conditions of temperature and pressure commonly found at the surface

'Aof the Earth. A liquid can be kept in an open container and fills it to the | |
|'level of a.free surface. A gas forms no. free surface but tends to diffuse

throughout the space available; it- must therefore be kept in a closed

-container or held by a gravitatlon field, as in the case of a planet's
| atmosphere. The distinction was a prominént feature of early  theories

describing the phases of matter. In the nineteenth century, for example,
one theory maintained that a liquid could be "dissolved” in a vapor| .
without losing its identity. and another theory held that the two phases |

are made up-of different kinds of molecules: liquidons and gasons. The
theoriés now prevailing take & quite different approach by emphasizing |
what I|qU|ds and gases .have in common. They are-both forms of matter
that have no permanent structure, and they both flow read|Iy They are

! ﬂwds

B R  Pagel3of36
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| evaporates. In contrast, the vapor above the liquid surface becomes

‘| 30: Which of the following would.. be the most approprlate title for the
| passage?

(D) Solid phase of matter

gl gLl Al a3l 29 206+ Rl Mo WRY ed. Gelera ddl3, |

'qasl AR uqc[mvt [Badl 2l UG dEt 20l M BUAL B F YoroL 2L 6

| sqmi 208 .24 Hewrl B@, GuR ualdl 21 A audQl dslad A usm\ -ell. |

The fundamental similarity of liquids and gases becomes clearly
apparent -when the temperature and pressure are raised somewhat.
Suppose a closed container partially filled with a liquid is heated. The
liqguid expands, or in other words becomes less dense;. some of it |

denser as the evaporated molecules are added to it. The combination of
temperature and pressure at which the densities become equal is called |
the critical point. Above the critical point the liquid and the gas can no
longer be distinguished; there is a snngle undlfferentlated fluid phase of
uniform density.

(A) Fluids under different conditions
(B) Temperature of the Earth
(C) The Beginnings of Modern aeronautlcs

s : 30 A 33
rﬂilvﬂ $53 2l a2l 2»{'1 {2 au[qc{l ouf»tcuvu (mz w& QURL UL ouotcﬂvu ,
Grnl | fé&L U % ::uhu[id @lcu °2L%Szl :

5321 . |
natdl A cug quﬂ df;lC{d yeelell Awdl GuR-L AR il& el Hadl
Gt 2 eoutetl R urell 2we dd BAAL . uqle’l& vl ariad Al wsty
2] ) AUl Gu-{l vyeel woui SR mq 8. iy 3 518 viedl wournl vl wsidl el
U3d ¥ a5y © AUl o FalS AU D, 2wl Al oft ARl Al %39 § el ¥l
IR | el Uyl (C{LdLCRQL) § A Agcusiael duA A A B, 21l dsldd

ol wudlul As Budlui el eedl 3 el 2iouefl aa-l azum vl
ar{l o v1ged 1S wdl Azll 21 ol R wud A [y gl 3o NICETEM L
(matdl 217, Aly) 0L e NSR-L 825 (Htasgea) a8, ¥ 3 ucue’l a.asl awy

23Ul A B, 2L oA ugrefi 2zl % % S sw[l U3 ell 2 Otv?tg
Al At 28 A3 9. ol nadld . : N

o e A EOURIHL Al i sl wuel el ucuél z»t& cugvﬂ woed | "
WLl e da S ast. w3 nadlell ikis A eRar URABLA ORY ML 2 |-

& AR ualdl [a2 & 2iaq oflod wedlui A g ug ol B. duiell i sysfletds, IE]

8. 20l R3e Bunii wuld < 208 nawdlu oflog wedl oidl B AR & naudi-fl wuél ug o S

ol §. AP Ad A %1 IRl % BLgdl el AL o) © A e Btg,, 8

dotsh §5d A5 % g Wl + st g it Briclalg ucuél SERCE |
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| (21) %l zél Ralaui uadl (o) yeedl e drusiit
(5) »ugfis AA-ARsA (ar-ieeust il )l azpud. (3) weell ssa R f\
131 | According to the passage, which of the following is the best definition of
| the critical point? .
(A) When the temperature and the pressure are ralsed
(B) When the densities of the two phases are equal
(C) When the pressure and temperature are combined
(D) When the volumes of the two phases are equal
g0l %guau UHIA HSTaril I.Etg-{l (Crltlcal P0|nt) Alell wdl vl § 87
(1) I U3l 249 £OURL QHIRAUMT 21 B o o
() 5413 61 3L sttt 2L AU D.
(s) a2 ctumm 21 gougl ol ﬁstq :2
(3) %2{& o aqaul-u oo ettt €A B
32 Accordlng to the passage, the dlfference between a Ilqund and a gas |
under normal conditions on Earth is that the I|qu1d :
(A) is affected by changes in pressure '
(B) has a permanent structure
(C) forms a free surface
(D) is cons1derab|y more common
HULESAHL FRUI 11,%6{ Hadl K cug qu{ \iac[l warll amw{ f‘ [am ¥ dslad &
'dﬂ}um& , 3 o
() aowalvu %zsmﬂ WRWAR., I
(60) w& 23U 44 . SR S
1(5) s AWl ud 3‘2 8.
(3) agj o Aa vAA B, o |
33 | According to the passage, what happens when the temperature is

increased in a closed container holding a liquid?
1. The I|qU|d and gas phases become more snmllar

2. The- I|qU|d and the gas become more dense

3. The volume of I|qu1d mcreases and the volume of gas decreases

| 4.The liquid evaporates out of the contalner

A1 a'ri'd ?_-A_any (B) 1and 3 only (c) 2 _a‘hd 3only (D) 1,2,3and4

B o - Page150f36
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() Madl A cauy aud vz oA 8.

1 (3) ncudld urwa all ® 21 i e a2 &,
| () el czpall o oullotar i & .
() sst 2 |

(61) $5d9 214 3
(5) s 3
(3) 2,2, 3x% ¥

55 WU U HAUSIA 68 Rl AL Al arRAHE A B R g |

34

Directions for the questions 34 to 37: :
Read each of the following passage and answer the items that follow
Your answers to these ltems should be based on the passages only.

Dr. S. Radhakrlshnan, the illustrious phllosopher sta_tesman:of Indra, was
one of the greatest sons of our.-motherland.- He cautioned the world

- .| against the domination of science in society. It is erroneous to claim that | -

scientific knowledge would. bring with it perpetual progress-and a steady
improvement in human relations. The recent period of great ‘scientific
achievements has also increased "human misery - two world wars,

concentratlon camps, atomic destruction, cold.war,- deadly wars in the
‘| middle east Persian Gulf and at many other places in the world. Growth

in human wisdom has not been commensurate with the: increase in
scientific knowledge and power. The fear of universal destruction hangs
over the world. There is a feeling. of dlsenchantment ‘anxiety and even

| despair. _SC|ence has failed to liberate man from the tyranny of his own .
nature. Mankind is passing through a critical period and an education of
.| the human spirit has become essential. In order to remake society, man

has to remake himself. If humanity is to survive, man must’ mtegrate h|s

Aknowledge with a social responsnblllty

34 Dr. S. Radhaknshnan has

(a) emphasiséd that science should be bamshed from the socuety

(b) opposed the teaching of science in educatlonal |nst|tut|ons

(c) opposed scientific thinking in life

(d) counseled that preponderance of scnence in life does not necessarlly

| generate happiness -

Yae : 3x aﬂ 39 wtv{l jﬁl*tlbﬂ .

AL €35 $53) izl 2 Pmﬁﬁ:m oUoLdLAL (3@2 z»uul AL 2L ouomvu (3rm N
$5d 532[1»{[ Uk} z»utu[vtd Sl A5 . '
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1@ wae 2wl & ¥ eartH Rttt w[ﬁua{aﬂ @b{«[l R w & o33l ~1&[l

Man can save humanity only if he

(a) abandons science

(b) brings about an internal transformation in hlmself
(c) makes his life more comfortable with scientific gadgets
(d) goes back to nature and pr|m|t|ve times

Hl"lcﬂ Wi R % o] 'aL} FUR...
(21) A Rz UL 2

| ) a vl et widRs uﬁqdﬂ 2.

(5) a Uldl @4t [Qat-t-i ALa-ell qtui wzmw{l omtcl
(5)  Q gec W A WAl WAL WS oA

36

The recent past of tremendous scientific progress has

- (a) made the world a very happy pIace

) (b) Ied to gIobaI warmlng
(c) brought about mternal transformatlon in men '

1 (d) shown that human wisdom has" not kept pace wuth fast mcreasmg |

sC|ent|ﬁc knowledge

B  Pagel70of36
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Man is despaired of science because
(a) science has given too much knowledge

(b) science has brought him excessive material comforts

(c) he has become a captive of science

(d) he is confronted with the nightmare of total annihilation of the world

VHL'.iCﬂ [Qau-t 431 84 RQLQLLM:;O{& 0 512 5...
(20) [Qau 2fQoa it 2 O,

(o) Qs Al ellfas g,vt—aotqs.lai bg»t % quI _SZ{T 8.

(s) weidl [Qstiei~il 6igl oi-fl thu 9.
(8) 2o g et sl e Ad grat Hl'icﬂ M ] .

38

Directions for the questlons 38 to 41:

: Read the following passage and answer the items that folIow

The probIem of how man should act if h|s government prescrlbes actlons
or society expects and -attitude which his own' conscience considers
wrong is-indeed an old one. It is easy to say that the individual cannot

| be held responsible for acts carried out under-irresistible compulsion, |

because the individual is fully dependent upon the society in which he is
living ‘and therefore must accept its rules. But the very formulation of
this-idea makes obvious the extent to which such a- concept contradicts

. | our sense of justice. External compulsion can, to a certain extent, reduce
' _but never cancel the responsibility of the individual. In the Nuremberg-; '
trials this idea was considered to be self-evident. Whatever is morally

important.in our institutions, laws and mores can be traced back to
|nterpretat|on of the sense of justice of countless. indivuduals. An effort
to arouse and strengthen this sense of responsibility of the individual. is

| service to mankind. In our times scientists and engineers carry particular | .
.| moral responsibility, because the development.of military means of mass |

| destruction is within. their sphere of activity. I feel, therefore, that the
" | formation of the society, through discussion of the inherent problems .
‘will make it easier for the -individual to clarlfy his mind and arrive. at a

clear pos|t|on as to his-own

-| stand; moreover,mutual help is essentlal for those who face dlfflcultles
_because they follow their conscience. : ‘o g

:t
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38. The Nuremberg tnals are cited as an example of -
(a) External compulsions and the role of society in dlctatlng deeds

'(b) The conflict between external compulsqon and - |nd|V|duaI

responsibility
(c) The prevealent sense of justice in socuety
(d) A case of moral responsnblllty

Us : 3¢ 4l wal YA : _
| v{lvlvu 55211 Al 2 FA@Bid euoidlsl uxv&vu (mz 1YL,
o w2 Bl ARSR F sUEll S8l 52 Ay F vbaul AN A Wl
BUHLAAL AL 2UFAR SRt AR elq Adl dlet wna yell 8. A 534 ASG BV 3

' %ﬂ ulasiR L 4f o3 dal souedq $129, st F s si d W A FaAleelR 3l
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An ideal title for this passage would be -~
(a) Internal Compulsmns '

(b) Love and man .

(c) Sacial responsibility and science

B (d) State and the mdnwdual consaence .

/,

a ssu:; z»uaz[ zﬂus elg ‘Mza

5 (1) 2iaRs gougl ; ».‘(9{_) BECEEEET |
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(
(

(5) *dreumll-w o chﬂq FISTERTIR - -
( .

The author is of the opinion that-
(a) Scientists and researchers alone carry moral responsibility

.(b) Individuals cannot divest responsibility on to social pressures . -

(c) Institutions have their foundation in human values

(d) Individual is not only dependent on society.

duisl uﬁqum 2] %
21) Qati{lzil 214 mﬂ%l q[&s %’C{L"talﬂj gt 53 9.
o) ol Wil FaoieilHi 0 ubss gougieit Otelvl @a!sl .

3) d{[&\d S5l WHLS YR % z»utuﬁct aefl.

41

The need that “The Society of Social Responsiblhty” satisfi ies is -

.| () Helping society realise their moral responsibility

(b) Help individuals reconcile moral conflicts. - o

| (c) Helping overcome mass means of destruction
7 (d) ProV|d|ng a forum to d|scuss |nherent problems

o aeulys %qtqalﬂqm AL v[l 3R A1 % acﬂbuq B k..
at) AR Al AR5 peusterdly eiet sRaqMi e S,

(
() Al dst Qs el yasiaani Hee 38,
(5) dBis Qe 01807 2igRid Ml qee 38,
(

8 curaudld warl-ll 2 w2 Ha yA ud 8.

42

" | larger share of their meagre incomes on necessities. But to avoid. unr

_-_Dlrections for the qUestions 42 to 46'

.""-__Read the foIlowmg passage and answer the |tems that foIIow based on|
-| the passage alone. (The passage is not necessarlly presentlng current
data) _ , .

‘Over the past few decades ‘many AS|an nat|ons transformed from
poverty into global competitors. From 2003 to- 2007, Asian economies |

expanded at-an average annual rate of 8.1%, triple that of advanced

| economies. Over the same period, inflation in Asia averagaed only about.
3.5%. But Asia could be facing turbulent economic times. In may,. the
average inflation rate throughtout the region reached nearly 7%, led by

spikes in oil and food prices. Pollcymakers and central bankers'are. forced
to raise interest rates -and limit lending to get inflation under. control. But

|these same measures supress the" investment: and consumtlon ‘that
generates growth.  The combination. /of slowing growth and” soaring | -

‘inflation- makes economic pollcymakmg tricky. Inflation stirs up the| . - .
middle classes because it can quickly erase years of hard-won personal o

]

gains. Inflation is cruel to the poor, because families have .to spend-a i

leaders cannot. blindly adopt rigid ant| |nf|at|on measures Voterss.,.a
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hesitate to remove. from office any poIitiCi_en who doesn't delivers the
| goods. So they cannot overreact to the inflation threat and scale down

economic growth in- the process. Developing nations need to grow
quickly to create jobs and increase incomes for their large populations.

| Meanwhile, with most central banks in Asia beglnnmg to raise interest

rates, inflationary pressures ‘have already started to ease themselves
out. Even though-inflation throughout the region is likely to continue to

rise in the coming months no one is expecting -an- economic calamlty

According to the Asian Development Bank, Asian countries have large

hard currency reserves and relatively healthy. banks, an so are far better - :
_prepared to absorb external shocks than they were during the region's

last recession ten years ago.

42. Which of the following can be said to be true about Asian economies
during the period 2003-2007. ? S 4

1. Though inflation was rlsmg at the time, pohtnc:ans did not pay much '

- attention.

2. Many of the poor countrles were able to compete mternatnonally
13

. The growth rate of Asian countries was facnlltated by growth in
~ advanced countrles

Select the correct answer from the codes given below

(a)1,2and 3

(b) 1 only-
(c) 2 only

(d) 1 and 2 onIY‘
| sz 1 w2 ol we 2100 YAl
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43

What is the author's advice to poI|t|C|ans regardlng handhng of inflation? .

| (@) They should focus on preventing agltatlons among the|r citizens not

‘implementing anti-inflation measures.

(b) They ought to.implement anti- |nflat|on measures even at the cost of '

.| losing office.

(c) They must “focus on mamalnlng high economlc growth rate as

inflation will taper off on its own.
(d) Countries should handle the problem |nd|V|duaIIy and not coIIectlver

Auts+ll soudlrl FEBid s 2 AxsRelYIN g A 7

[ ) solal AL woldizl-i @AM %gtvtt ALRE iflar 4 32: d UR &yIn wﬁg’,:

RS,

(o) A&l Wleusl elsl chﬂvt QL goucu [Etvlt{l weml'ﬂ o) &ql °z?ti§3~q,
| (3) QL Gl a»u[éis [%La £ UR Al %uﬂd 9 RS SR % goUdlL umﬂc?t Elél

%3l

(3) €2s2Au ,Ci{[-ﬁv\dolcl'*ﬂi@t -l 3 AR5 Q1A ga 53 °z?ti§2?t. |
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44 WhICh of the foIIowmg is not stated as an ant| lnflatlon measure being
used by Asian countries ? - : :
1. Increase in interest rates
- | 2. Checks on lending
| 3. Subsidizing fuel for farmers
| Select the correct answer from the codes glven beIow
' (a) 3 only (b) 1 and 2 only (c) 2 and 3 only (d) 2 only
ol 53 gouan [QAHL ag, SARLu 2 & ecwu o] efl ?
(1) et eruiaud
() ez Hule-febe
(3) Vladl SueL 1R el
12+ 2isiell 2wl gL Wi 53,
(24) §50-3
(1) §5d-1 2R
(5) $5d2 %7 3
Q) ssaR -
45 | What makes it difficult for Asian countries to control inflation ?
- | (a) Restrictions by-organizations like Asian Development Bank _
| (b) Governments are indecisive and adopt counterproductive measures.
(c)'The problem is global in nature and not restrlcted to the|r |nd|V|duaI
countries. : :
-(d) Economic growth cannot occur in the absence of |nﬂat|on
R Redi goudl P@LBLcL RIE ) ga}({lw 7
| (1) 2ALu-6ls ) diRelvilnl btgal
(61) . 512+l AR@AsAL 217 Gear wotal Aaill sl
(5) st APus ® A Aseu Welltt 2L W2 Wt el
| () gouarll dreiosni :»u[f’i& [si us 4 u3. |
46 | Why are experts not very concerned about the |mpact of mﬂatlon on |

o As:an economles 2

L1 Asian countries have not malntalned sustantlal hard currency |-
| reserves. : ' '

'| 2. The condition of AS|an banks is currentIy healthy '
3. The Asian Development Bank will bail them out of any trouble :

o fSeIect the correct answer from the codes glven be|ow

"/ (a) 1 only

“ .| (b) .1-an 3 only
- 1(c) 1 and 2 only

(d) 2 only -
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() et A (\ [ Hosoyd . |
(3) AR JaquR-e bis A3 AR &cﬂ g_z{lotcmia[l Goudl 4d.
(21) s5d 2 |
CYET KRR
() ssd @2
| () ssdz
| 47" | Directions for the questions 47 to 51:

Read the foIlowmg passage and answer the items that foIIow

"1 It is your duty to train and develop your m|nd and acquire knoWledg'e as
| much as you possibly can obtain. 'Knowledge' is like a deep well, fed by

perennial springs, and your 'Mind' is the little bucked that you drop into
int; you will get as much as you can aSS|m|Iate The 'Brain’, which is one |
of the two precious products of the aeons of Evolution: the other is the |
imponderable " 'social instinct'. This wonderful brain whose- every
convolution represents millions of years of time, really distinguishes you
from other animals. Many animals have very powerful sense- organ: the

| eagle, the ant and the dog have keener sénse than man. But no animal
has a more evolved brain and a higher mtelhgence If you do not develop

and use this brain to the utmost of your power you are more akin to the

beasts than to Homo sapiens. 7
Krnowledge and mental self-culture wnII confer untold bIessmgs

" upon you. You will not be the victim. of superstition and demagogy in

religion and politics. You will know your duty and do it. To be wise and

'mdependent in your religion and your politics, not to be ‘doped and

duped by the selfish priests and the scheming politicians of capitalism
and so called socialism: is this not a noble aim worth striving for? Most |-

‘| men and women today are not free and wise; they are like kites flown by

priests and politicians who hold the string. They are fleeced and fooled
on account of their ignorance of science, history, economics and other )

subjects. Half the ills of Manklnd are due to Ignorance, the’ other half

arises from Egotlsm

47. Wh_lCh of the foIIowing is the crux of the above passage ?

(a) Human need to develop his brain and a mental culture.

(b) Acquiring knowledge and developlng human mind _
(c) Mankind's prerogative. to be free and wise through- knowledge -

) (d) Man_s soc’lal instincts and t_he need to get rid of evn|s. L
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48

' The author has adopted which of the followmg style of wrltmg ?

(a) Argumentative

(b) IIIustratlve‘
-1 (c) Narrative .
1 (d) Comparatlve

avid U $5A cwquu r{lzuua& P aLc{l'u Glmm 32{T &,

1 (21) eellellell o3¢l
,. (o) Gereaell oRdl
(5) - ael-iows

(3) - uRuiagelel edl
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49 ‘Which of the following statements can be inferred from the above
passage?
1. Human mlnd sets the I|m|t for h|s acquisition of knowledge
2. In order to be free and happy, humans are duty bound to train and
develop their m|nd S -
~](a) 1 only
(b) both 1 and 2
(c) 2only -
(d) Neither 1 nor 2
BURU S5 w11 (A4 sui [Qaril 2 ctil% diRell asu ?
(4) *uorid 3= st Rl Qe *l:‘sﬂ 2D, |
R) Fld?l a»tvl JIELL Yl HI2 mgm-{l {sw 3 % Ulcieit o196, dlc—ﬂ‘l Wl 243 Al
| st 52, | - i
(2) 880
(o) LAAR0A
(s) ssa-2
[ (8) Ayl as vusfl
50 | Consider the followmg statements Wthh of them can be |nferred from
| the passage? . ‘
1. Human mind is the perenmal sprlng that keeps ﬁllmg the pool of
infinite knowledge , .
2. An existence -where humans fall to develop and use thelr brain
amounts to an animal existence. -
| 3. Higher mtelhgence and great spiritual progress is conferred upon man |
through knowledge and mental self culture. '
V(a) 1 and 2 (b) > only (c) 1 and 3 (d) 3 only
r[l?lvu [Eltuvu ¥{3) [Qauz 301 Guzru $3Qlfll z»utui syl [Qu-l qeue[ 8.
(‘L) ‘ll'&l%t:l_, Ul 2} ws Qll’cld oszg; &, °x HIY Siletetl avlqvﬁ oag WH. |
(Q) ) a»uukl vyl a1+l R SQCll‘{l s %52»1 dl Hidd dil,?x:; 2»{[\ Rclect ugvu |
et ¥ oll AU, , . A _
(3) ezt 62wl Ul #1A Heiet a»uuuf\g mtla BINIEEE] mvt[iu; ﬂd [qglim
Rgla wRsd o 53 3. . |
L) 12AR (o) ssd-2 () 13 (8) ssa-3
I 51 As per the passage the author implies that most men and women:

. (a) are arrogant in their behaviour towards other species = .
(b) lack social instinct and work for their selfish gains =

(c) do not possess capacity for free judgement
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Directions for the guestions 52 to 55. _
Read the following-passage and answer the items that follow. -

Power and possession have been: the' ‘central pursuits of modern"
civilization. For a long time, they blocked out or distorted other features

of the western renaissance (revival) which promised so much for
humanity. What people have been and are still being taught to prize are

‘money, -success, control over the lives of others, acquisition of ‘more

objects. Modern social, political and economic systems, = whether
capitalist, fascist or communists, reject in their working the I
basic principle -that the free and ‘creative enfoldment of every ‘man,
woman and child is the true measure of the worth of any society. Such
enfoldment ‘requires understanding and imagination, integrity and

‘| compassion, cooperation among peoplé, and harmony between the

human species and the rest of nature. Acquisitiveness and the pursuit of
power have made the modern man an agressor against everythmg that
is non-human, an exploiter and. opressor of those who

are poor, meek and unorganized, a pathologlcal type which hates ‘and
distrusts the world and suffers from both acute loneliness and false
pride. The need for a new renaissance is deeply felt by those senS|t|ve
and conscientious men and women who not only perceive the|

'_ dimensions of the crisis of our age but who also realize that only through
.| conscious and cooperative human eﬁ‘ort may this crisis be met and
' ,probably even overcome. : :

B

. 52, Accordlng to the passage, con5|der the followmg statements

1. Man turned to to be the enemy of everything that is non- human as he
is domlnated by drives of acquisitiveness and power.

2. Restrictive: enfoldment is the foremost requlrement for brlnglng out
the best in man.- ' .
Which of the statements given above is [ are true ?

(a1 onIy (b) Both 1 and 2 (c)2 onIy (d) Nelther 1 nor 2

Yaei 5‘1[3 R z[l yy Q)tDL-{l ﬁ’«l*llbu
*[l?tftl $53 cuz& :»m [Hwhﬁ»m ouotcuru (arn :»ulu

N

' “bugl?tfs AHL Yoy wvu Al 27 Aulz e 8. 1191 cubu wm g}& \u&m ,

[Etsé[a i 2l cush wu(a Q»t:t WY UL Q °zr aﬂbtq.
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| 63

As per the author, the present crisis can hopefully be soIved by_

(a) sensitive and conSC|ent|ous people

(b) possessiveness

(¢) random individual human eﬁ’ort :
(d) pursuing acquisitiveness and control over others

AuisHL HellgUIR sl 5258l 56 2’[& Gl alaat 21 uvil atsm ? L

| ) a&arta[le A A3yt HAellAl gL

| (61) 2is1s 213 ufadll ouqru%[l

() egeusaiun QL sdud :

(&) =iuRell ul 213 602 uR vige Anaesit Yool

54

The real attainment: of any souety can be adJudged by wh|ch of the

following ?
| (@) The degree of freedom for pursuing more and more. power

(b) The encouragement of acquisitive tendencies
(¢) Total restriction on development of all' persons

(d) Strict adherence to authoritarian structure,

B - Page 28 of 36 .
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55

‘Which of the following statements can be inferred correctly from the

given passage ?
1. Compassion and tolerance have long been the central pursunt of

| modern cwrllzatlon
2. Western renaissance had held a lot of promise for mankind.

3. The author appears to be advocatrng a humamstlc approach to be
adopted by the society. . ‘

Codes:

(a) 1 only

(b) 1 and 3
(c)2and 3 ;

(d) all of the above

GURL 52U 2URd A la%u«ﬂmeﬂ 54 Rt A7
(4) s3eu A %L[éng;cu alow el z»ug[% AR YOI @85 8.

() ulel a9 Hirtasd H2 Wl wauwa g2l ol
’ (3) avis %mvx Hircly 2’{[5{%‘1 z»mvuqcu Hté UAS 5l WRUU D,

(2»1) S5 -4

(o) 1 A 3

(5) Ru3

(3) GureL @i (1,3,3)

56

When you reverse the dlgltS of the number 13, the ‘number lncreases by
18. How many two- digit numbers mcrease by 18 when the dlglts are

" reversed ?

'(a) 5 (b) 6 (C) 7 (d)8

S dR %”-{R 13ru AL S Geatqt 9 AR cuu ¢ z»ugru QHIRL mq R &c[l E;ac{l '

: [&uﬂ awu £ %l sl Gearaaidl vAisul 1 ¢l cmm QY 69

@w @ e @o®e

| 57

If a/b =1/3, b/c = 2, ¢/d = 1/2, d/e =3 and eff = 1/4 “then the vaIue‘

of abc/def =7

(2)3/8 (0)27/8. (cg/4 () 27/4 )
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| 58

A survey was conducted of 100 people to find out whether they had read
recent issues of a monthly- magazine. The. summanzed information
regarding readership in 3 months is give below:

Only september - 18, September but not August - 23, September and-

July — 8,:September - 28, July - 48, July and August - 10, None of the
three months - 24.
What is the number of surveyed people who have read exactly two
consecutive issues (out of the three) ? .
(@) 7(b)9(c)12 (d) 14

W5 HURSL Q50 Sl il © 3 334 d olotd @il WE 100 AEvill 1

s el edl. AT gm vugr HA &QWQLd % eflsdl edl A<l AR R 0

11,%6{&9
S5 ARIRUI-1¢, AR6RUL Yal ?)ﬂDLRHL g3, AR A AelS-¢,

T ARR-2¢, GAUS-¥¢ 2N 2APR2-90 AD HUHL A i Aol cuvgl& deu elsi-l Aval-
I ' L | B o
 GuAsd Rl A Adi vugmtaﬂ Actel 6L ML 4B usl SIESTROES Qe uui Q»uqﬂ |
Qe i\l A ' |
() o (o) (s) R (s) Ly

:_After haif an hour, 1st signal - 2 red &2 green I|ghts

- | After half an hour, 3rd signal — 1 red & 3 green lights;

the
information given below.

| A country: has the following types of trafﬁc srgnals

3 red lights = stop;

2 red lights = turn left;

1 red light = turn right;

3 green lights = go at 100 kmph speed
2 green lights = go at 40 kmph speed

1 green Ilght = go at 20 kmph speed

Vi

St-artmg Point — 1 green I'}lght
After 15 minutes, 2nd signal = 1 red:light; -

After 24 minutes, 4th signal — 2 red & 2 green lights;. =~ =

‘DIRECTIONS for questlons 59 to 62 Answer these questrons based on|

| A motorist starts at a p0|nt on a road and ‘follows aII trafﬁc signals |
literally. His car .is heading towards the north. He encounters the

following signals (the time ‘mentioned in each case beIow is appllcable
| after crossing the prevrous signal). : .

After 15 minutes, 5th signal — 3 ted i Ijhts _
o B . Page300f36
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59. The total dlstance traveled by the motorist from the startmg pomt till
the last signal is:

(a) 90 km.

(b) 100 km.

(c) 120 km.

(d) none of these.

Uz sULS U ol e3-{l YA :

Craldde = ol oy 2Ladl
1 e ez = oell suyg 2 &dl |
3l awde = 100 3.4 ula sy ztcuq

s q2R Alds wdl Wl A ol RUAL et B AN Rell Well U 235
2{0-1(11:; Pl W 52 B, Ag Aert Gur dvs 9. (13 au[qen AU 2A0UGB, |-
EELCRIEER 3q[ oue d uelg Rivma iR 32cu mé ARy W B) Aled ALds ~{l=>tru [Rioal |

%buq £,

azvdlidg Rt 4 dd dtg?a -
s sAls oue 0w ReAa R ciLq‘ ase w2l ade
- Ay BReos @ ollog Rosia 4 awd e '
b sls oUe A% R : 4 e 213 2 dldl) ez g
whReoe g Redd: e ade wi ddlase
u e ene - ul;&gi[@bﬂq 3 g alse B

ll.’l"l U¢e

(Q’t) o B, l[1 (f’t) 100 3.3 (5) 10 3. *[l (3) Gumiell 35 wat S

s 2ol 12 wdil aus [i{ovtav[l czmeu .
3ad ade = 1Y

el ewsSe = yo (3.l ul send A
q dldl enSz = 0 3.4l u[& sal 4l

ataz»uct«u zaurta[l £9edl ﬁ{oda g}[lm Hlaz aua% $4 %acu iRl gw&ﬂ 3311 7

60

If at the starting point, the car was heading towards. south what would |
be the final position motorist: .
(a) 30 km to the east and 40 km to the south. -

(b) 50 km to the east and 40 km to thé south. -
{ (€) 30 km to the west and 40 km to the south.

(d) 50 km to the west and 20 km to the north..
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What is the posmon (radial distance) of the motorlst when he reaches |

the last signal:
(a) 45 km directly north of Starting Pomt :
(b) 30 km directly to the east of the Starting Point:

1 (¢) 50 km. away to the northeast of the Starting Point.
(d) 45 km away to the northwest of the Startmg P0|nt
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_After the starting point if the 1st signal were 1 red and 2 green Ilghts

what would be the final position of the motorist:
(a) 30 km to the west and 20 km to the south.
(b) 30 km to the west and 40 km to the north.
(c) 50 km to the east and 40 km to the north.

(d) D|rect|y 30 km to the east.
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‘The average of 20 numbers is 12 The average of the frst twelve :
numbers is 11 and that of the next seven |s 10 What is the Iast number? :

(a) 38 (b) 48 (c) 37 (d).49 _
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.Ihsfea'd of walking along two adjacent sides of a' rectangular field, a boy

took a short cut along the diagonal and saved a distance equal to half

the longer side. Then the ratio of the shorter side to the Ianger side is:

@) 172 (b) 2/3 (©) 1/4 @) %
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Six persons are sitting on a cirecular table. Suresh is. facmg Raghublr who
is to the left of Ajay and to the right of Pramod. Ajay is to the left of
Dhiraj.  Yogendra is to the left of Pramod. If Dhiraj exchanges his seat

with Yogendra and Pramod exchanges with Raghubir, who will be sitting
 to the left of DhlraJ? . ’

(a) Yogendra

“(b) Raghubir

(c) Suresh

[ (d) Ajay -
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Directions for the questions 66 to 75: Read the paragraph and answer
-the questions that follow. No translatlon would be provnded for these

questlons
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' PASSAGE 1

Shambhu loves to run. He runs in the morning. He runs in the afternoon
He runs in the evening. He runs at night. Though Shambhu loves to.run,
but it hurts to-run. When Shambhu runs, it hurts. His legs hurt. His arms
hurt. His back hurts. His head ‘hurts. When Shambhu runs, his whole
body hurts. Then, he starts thinking. He starts dreaming. He dreams
about his job. He dreams about his home. He dreams about h|s famlly

-He dreams about his fnends He dreams about the world
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| At first, rrJnning hurts. No one likes it when it hurts. When it hurts,
‘Shambhu dreams- about things. that do not hurt. This is why Shambhu

loves running. Running gives him the best dreams. Sometimes,

| Shambhu forgets that he is running. Sometimes, he runs all. morning.

Sometimes, he runs all afternoon'. Sometimes, he runs all night.
Shambhu runs and dreams ' . '

A66 When Shambhu runs it hurts. What does thls mean 7 '

(a) He feels good
(b) He feels bad

{(c) He feels like hurting someone-

(d) He feels angry

67

Why. does Shambhu love r_unning?

| (a) Because it hurts

(b) Because he is healthy ,
(c) Because it gives him the best dreams
(d) Because it gives him more energy

68

68. What'is the order of Shambhu’s actions?
(a) He runs, he thinks and he dreams

| (b) He runs, it hurts, he thinks, he dreams

(c) He runs, he thinks, he dreams; he gets energy.
(d) He runs, he dreams, he thlnks he gets a job

69

PASSAGE 2

" | Rajesh works at the bookstore.. FII‘St ‘his job is to unload boxes of books |
| from the truck. Then he opens the boxes. After that, Rajesh puts the

books in different piles. One pile is for books that tell true stories. These

-are called books of fact. Another pile is for books that tell stories that are

not true. These are called books of fiction. Rajesh then puts the books on

‘shelves in the bookstore. Putting books on shelves is what Rajesh likes |

to do best at work. When Rajesh has free t|me at work he likes to read
through aII of the books : S

His favorite books are “the 'ones that tell true stories about real people

and their lives. On Sunday and Monday, Rajesh does not work at the

book store. On these days, he stays at home He uses thls time to write
a story about hlmself , . _

Rajesh grew up in APaIAanpur.» Now he lives in the Ahmed_abad. He works |
at the bookstore to pay for school. Rajesh wants to be a teacher. One |

day, he hopes to turn his story mto a book. He hopes to see it at ‘the |
bookstore. . : :

69 What is the second thlng that Ra]esh must do at the bookstore?

(a) Open boxes (b) Tape boxes shut - -

) (c) Put books on shelves (d) Put books in piles

B




A de A

70 ~In what piles are the books placed?
(a) In easy and hard ~ (b) True and not true
(c) Long and short (d) Funny and not funny
71

What does Rajesh like to do best at work ?

(a) Unload boxes

(b) Open boxes

(c) Put books in piles
(d) Put books on shelves

72 | What books does Rajesh like the best ?
(a) True books -~ . (b)Sad books
4 (c) Books with happy endlngs (d) Funny books
73 | PASSAGE 3 S

Six consecutive days of monsoon rain had created a raging river running |
by Geeta ‘s farm. As she tried to herd her cows to higher ground, she

| slipped and hit her head on a fallen tree trunk. The fall knocked her out
for a moment or two. When she came to, .Gauri, one of her oldest and:

favorite cows, was licking her face. The water was rising.- ‘Geeta got up
and began walking slowly- with Gauri. The water .was now waist high.
Geeta’s pace got slower and slower. Flnally, all she could do was to
throw her arm around Gauri’s neck and try to hang on. About 20 |
minutes later, Gauri managed to successfully pull herself and Geeta out |
of the raging water and onto a bit of high Iand a small island now in the |
middle. of acres of white water.. : . :

| Even though it was about noon, the sky was so dark and the rain and |
lightning so bad that it took rescuers. another two hours to discover |

Geeta. A helicopter lowered a paramedic, who attached Geeta to a life-
support hoist. They raised her into the helicopter and took her to the
school ground, where the District Administration had set up an
emergency shelter : :

‘When the flood subsided a couple of days later, Geeta immediately went

back to the “island.” Gauri was gone. She was one of 19 cows that Geeta_
Iost "I owe my life to her,” sa|d Geeta sobbmgly

‘When did Geeta slip and fall ? -

(a) When she was walking up a hill

| (b) When she was walking towards low lying area

(¢) Whenhe was walking over a tree trunk

- (d) Whe was sitting on a cow

|74

Why was the sky.so dark at’ noon_?_

(a) rhere was no electr|C|ty
(b) There was thunder and I|ghten|ng
(c) There was rain \

(d) It was.nightitime 4 . _ _
| | B _ S Page 35 0f 36
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When did the flood subeide?

(a) After two days
(b) After a couple came over

| (C) After four days

» (dLAfter the District Admmlstrat|on rescued Geeta

&
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